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1 3/4| amiFrEx [3 2 14, 930
2 3/ ARFEH |00 2,200
3 3/8] AT |12 240
4] 3/11 amFE 3O 1,000
51 3/12] Aam4FEH |RO=E 5,000
6]  3/12] AamRFHE |RORK 5,000
71 3/13] amR#FHE |[EOA 20, 000
8]  3/29] AR EZ: [HROA 1, 830
9  3/29] AapRHFH RO 5, 000

10 3/1| H%wx [pOEs 5, 000
11 3/4] megFEH |FOM 500
12 3/4] mEFxH |[MON 500
13 3/7| snHgwx (2O 900
14 3/11] sgFEzx [#0O00% 4 127 100, 000
15|  3/18] sgyx |EOOOOF 68, 500
16|  3/20] smewz [HOR 100
171 3/20] sug#wzx [EOkH 3,000
18]  3/28] mewx [20m- 203 500
19]  3/28] smgwz |mO% 1,000
20  3/28] muyvmwE MmOz 1,000
21 3/28| mEwH  |RIOm: 1,000
2o  3/28] smywE [HOF 1,000
23  3/28| smyvwE  [HO% 1,000
o4  3/28| smuvwE  |#O# 1,000
25 3/28] mgws |BO& 1,200
26| 3/28| mEwEH  [MmOm 5, 000
271 3/29| mewz |2 0% 100
28]  3/29] smywx [10% 100
29  3/29] muywE |20O% 100
300  3/29] smywEs [EOH 100
31 3/29] mEFx (204 100
32 3/29] smuymE 204 100
33| 3/29] smywEs [2O% 100
34  3/29] muywE 1O 100
35 3/29] mEywEs [OF 100
36|  3/29] smyws [EO% 100
371 3/29] smywEs (O 100
38|  3/29] mEywEs (MO 100
39 3/29] smEyws [(mOZ 100
40 3/29] mewxs [RIOFE 100
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] 329 smEews MO 200
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9] 329 ma#x |mOL 300
50| 3/29] mE s |3 & 300
51l 3/29] mewm: |20 24 was 500
5o 3/29] sy |10% 500
53] 3/29] smewws |[HOF 500
sa|  3/29] smewws |#0-= 500
55 8/29] smaws [WOE 500
56|  3/20] smaws (w07 1,000
5711 3/29] swwwz |4 O% 1,000
58| 3/29] smewws: |O-= 1,000
5ol 8/29] smawas [HO 2,000
60|  3/29] smaws [£0w 2,000
61]  3/29] smaws [20O% 5, 000
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65 3/7| 35 2 M iRk 2 (MO 490
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